N = 0l & At & Ml A

SN ASRED
MM SEXHQ A2 Aotax=E EINM
S U222 ZSAMYE (ML AMNASLYHAH ) (NS AHELYLSIH) (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol &F o4 %@ﬁ HRE2
Aot T 22,839,433 16,506,988 6,332,445
= 8,490,000
= 3,503,000
= 10,846,433
SEXHQ A2 Aot £=EINA 22,839,433 16,506,988 6,332,445
g 8,490,000
o= 3,503,000
= 10,846,433
U2 ZSAMY (AT AIHELES A ) (AT AIHEE 22,839,433 16,506,988 6,332,445
Sl A
Fag 8,490,000
== 3,503,000
= 10,846,433
M SEBA 250,000 400,000 A 150,000
206 M = Hl 50,000 52,500 A 2,500
01 X2 H| 50,000 52,500 A 2,500
OAHEI & B8 ¢ 200,000 2504 50,000
401 Al HI L £ 0HHI 200,000 347,500 A 147,500
01 Al& H| 200,000 347,500 A 147,500
OMdx=EZ=Z2A 800,000 #2500 A =14 200,000
UAMAMLT T A SEAY 822,180 1,332,342 A 510,162
401 Al HI L 2 0HHI 822,180 1,332,342 A510, 162
01 Al&H| 817,000 1,324,000 A 507,000
O848 LANS M+E HTIA 208,000
Od4H XX0Is 445 SEZA 104,000
O848 2Y0S M4 HFDM 72,000
OKWEH AENS & HTTA 433,000
03 AlE 2 HH] 5,180 8,342 AN 3,162
OYMNAT 2479 HFAY 5,180
S8 HMIAY 1,197,090 1,660,656 N 463,566
201 gBt24A | 15,000 11,500 3,500
01 AP 22| H| 15,000 11,500 3,500
OOIH=4EA & 2227 AL EA 22|
7,000,000 =14l 7,000
ON4E moi= o Heg 7
250,000 *8H x23| 4,000
O 0dxe A28 7Y
4.,000,000& * 1Al 4,000
202 044l 3,000 3,000 0
01 2L I 3,000 3,000 0
Oszx=sMd1d & A&XXAHS 3,000,000& x 14! 3,000
206 M = Hl 20,000 20,000 0
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M Aot
u: 58X H2 Mo4T +EHA
te: AH2E SSAMG (AT MSSEIH ) (A4S ALESESIA) (&)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
01 =8l 20,000 20,000 0
O&==& HI&XH 7 20,000,000 » 14! 20,000
401 Al BIZ 201 8] 1,159,090 1,606, 156 AN 447,066
01 Al bl 1,150,000 1,600,000 A 450,000
O+ De=7 L ALE SA22
500,000,000 » 14 500,000
OL=2=2 WM3A 500,000,000& » 14 500,000
O:L=AEIN & 25 WA 150,000,000+ 1 150,000
03 AIE 2 0H bl 9,090 6,156 2,934
OM+E De=7 L ALE SA 22
700,000,000& *0.63%* 14 4,410
O=22 WH3A 500,000,000& +0.72% 14 3,600
OL=AEIN & 255 WA
150,000,000+ . 72%* 1 1,080
FF gprtag] 1,583,740 1,311,966 271,774
101 14 bl 4,000 4,000 0
M4 JI12ZHZEXNSES 4,000 4,000 0
SAE H=x= o2 4,000,000& + 1 4,000
201 LBH2d| 706,740 628,966 77,774
01 At 2t 2l 21,100 17,450 3,650
O el 10,900
—Z2H EH 7Y 500,000& = 14 500
—ZFH |z 100,000& »20CH 2,000
— N2 2F 2,500,000& *2JH 2~ 5,000
— g3y #3372y 450,000 1 204 & 900
—dz2)], SIEEI dUz
1,250, 0002 » 1E %204 A& 2,500
o1l =l 6,000
— A= (3T 22A4)
150,000& * 12% » 23] 3,600
—HAS (3T SY22N)
100,000& * 12% » 23] 2,400
O= &l 4,200
= 22N 350,000& *x12% »14 4,200
02 8323l 685,640 611,516 74,124
Oz22= & HA 525,640
—d2HaAANE &I (2MLA)
450,000,000& » 14 450,000
— 8% S REH ZUE =2
12,000, 000& =1 12,000
— 3% HdzH| 5,000,000 »14 5,000
—=E2A=SI BEHAN =8
5,000,000& =14 5,000
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M Aot
M SEH0 HZZ Aot =EIMA
tel: 428 SSAMS (4T MASEIH ) (AT AISEES)
SA - ZE-B(EA) - NRAY - B S il &t o il
- sk s8U 4,000,000 =1 «2CH 8,000
— XAsX Xl 2,000,000& =13 »2[H 4,000
—&IIEH etE e e =2
9,500,000& » 14 9,500
— A YotEE 3| 80,0003 14 80
— 38 ENds SUANEA 2=
500,000& » 14 500
— &%, =X R e ===
23,000,000 » 14 23,000
— AT AYNE HHFH
3,600,000 x 14 3,600
—HEZ3H AEB =2 4,000,000& x 14 4,000
—fEggssA=E 80,000& +x12& 960
OAIZ &l =Xl 160,000
— 9 DEFSH2AAE SA2el B
15,000, 000& =14 15,000
— &, =X =Z2HZI |22 829
15,000, 000& =1 15,000
— =T A4 EI|etdEH 23,000,000 14 23,000
—oOID Y MEA B e
11,000, 000& =1 11,000
— =AY AEEHIIZ RIE™
7,000,000 » 14 7,000
—HE L =X 2AIEH |X22l(CCTV)
15,000, 000& 14! 15,000
—d=%, =X HII£H |X2e
10,000, 000& 14! 10,000
—d2% 2EASI X2 (2ML)
20,000,000& » 14 20,000
— oY DEFS=HMLUANE SEAE
12,000, 000& =1 12,000
— &%, =X XsSHA |X 2l
20,000,000& » 14 20,000
—AdsSAEHOH A3 AH
6,000,000 » 14 6,000
— AT SAHX=EHI A2F uiH
6,000,000 » 14 6,000
202 O4dl 5,000 5,000
01 =S LHAYI 5,000 5,000
O, 248 2 HiaN S22
3,000,000 » 14 3,000
O3 =& ZAl 2,000,000& x14 2,000
206 M= Hl 22,000 22,000
01 =8l 22,000 22,000
Ox=%H s HZI ¢ 9,000,000& » 14 9,000
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2N
X ZH -
L= B

el

AT A E D
SEXQ 2R HEHET +E
o2 BIMY(YLE

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OUlSAH 7g(+58BE 5)
10,000, 000& =1 10,000
OXsHN "X A28 Y (ZH0l S)
3,000,000& » 14 3,000
401 Al HI R 201 I 800,000 602,000 198,000
01 A& HI 800,000 602,000 198,000
O ET L=LH X2l MHA
200,000,000& » 14 200,000
OZdE+FT =4H SX2el HA
100,000, 000& »1& 100,000
O 3% Jlsdt 24 500,000,000 » 14! 500,000
405 RHoHE S HI 46,000 0 46,000
01 AL EFSFHSHI 46,000 0 46,000
O 23+ 28I 7*¢ 1,000, 000& = 1CH 1,000
O Yam+y BEXY 7Y
45,000,000& = 1CH 45,000
F=F =g 1,365,220 1,238,992 126,228
201 Let24d]| 168,320 125,858 42,462
01 At 22l 86,320 63,858 22,462
Ox=ZZA 80,540
— =2t A 40,000 *40==#20H & 3,200
— &2 (JIEH) ZA 40,0003 x52=F 24 & 4,160
— ot == ZA 60,000 x523= #20H & 6,240
—SE22XNG A
60,000 *2Z= 1200 2«64 & 8,640
—E2EIAM 1,200,000 =871 & 9,600
— I3 A 3,500,000& »43| 14,000
—olE2 AWUAYS LTAM
550,000& *43] 2,200
— g5 =Z2FAM 3,300,000& =33| 9,900
—HIOIA, AMES 2H24R
4,000, 0003 #2353 *2J4 2 16,000
—HJIE 248 =8 200,000 x33| 600
—JIEHER QY SQIN S)2ML2R
6,000,000 » 14 6,000
Oo=24d=+¢ 980
S I CER-2FS=
70,000 *7H »23| » 14 980
O+t 4,800
—+SSEIEIN 2B Y
4,500,000& *13] 4,500
— LAY Z22/AMEBEI I E 24
300,000& » 14 300
02 3322l 82,000 62,000 20,000
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SN dot=En
M gEN0 LR HotE SEHM
©el: 2 ZSN(MFCALSHIYH ) (ST ASSLEIA) (el &)
A - EZH - B2A(SAH) - NFAY - BES Off &k 24 %Ei Hus2
OAN&ZHI KX 82,000
—H2T FA(HA/H)
5,000,000 *33| %24 4 30,000
— =X FA(281/4)
20,000,000 *23| * 1 40,000
— SEAE AETVSHEAHEI| e
12,000,000 * 1 12,000
206 M 24 135,900 108,900 27,000
01 HEHI 135,900 108,900 27,000
O%El 92,400
—AEA A AT SEAY
110,000 2 *30F *23] * 1 6,600
—Z+HMelM(SEM)  300,0008+80E 14 24,000
—ASAZT(VSLUUES)
520,00021 *90E * 1 46,800
-~ LHBANE SFBNBE AE(75)
15,000,000 * 1 15,000
O] 43,500
— SEASI ALE 9,500,000 1 9,500
- ¥+ FHED 20,000,000 = 1CH 20,000
— STAAMN 222 S 2,500,000 * 13l 2,500
- WEA=LHH 43 1,000,0008 *1 1,000
- HIIME ¥ 22 S R UM
2,500,000 * 1 2,500
- SEAE otEIR 2,000,0002 1 2,000
- T Y2AM 6,000,000 * 1 6,000
401 AlEHIL 2T 1,061,000 1,004,234 56,766
01 Al&Hl 1,061,000 1,000,000 61,000
O&#% 2ielXd Hscde £X
80,000,000 *57H A 400,000
OLN=TI| & ET ¥ B
195,000,000 * 14! 195,000
Oth+Xl 2943 22 2
340,000,000 * 14} 340,000
OSEH &X 18,000,000 %77 4 126,000
A2 AEE 2D 69,913 68,632 1,281
101 Q124 32,177 30,896 1,281
0M4JIZH2EXSE R 2 82,177 30,896 1,281
ol e 2 69,7602 x253 17,650
o4 o 2 17,649,2802 x43| / 128 5,884
Oeixt+=¢ 69,7602 16 1,117
OYEF It 600,000 *23 1,200
o4ty 282 2,000,0008 1 2,000
ORa=xsa¢ 69,7602 ¥523 3,628
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SN ASRED
M SEH0 HZZ Aot =EIMA
tel: 428 SSAMS (4T MASEIH ) (AT AISEES) (&)
5 - 4
A FB B (EN) - HRAY - BES 0l &t o il HImEET
Oa==S A4 BottHde=a 50,000,000 14 50,000
Oax=EANEE HIIR=S 100,000, 000& » 1 100,000
Ox=ZANEE SHRS 50,000,000& 14 50,000
Oodletz A== 500,000& 1201 & 6,000
O==Xl &4 20,000,000& 23| x 14 40,000
405 RHoHE S HI 15,000 10,000 5,000
01 et EZFH S 15,000 10,000 5,000
Od=+t RXNAZ =23 72E
15,000, 000& 14! 15,000
SHEMEESNL (22X ) (HEAY) 1,500,000 1,500,000 0
< 1,000,000
s 500,000
401 A& HIZ 201 Y] 1,500,000 1,500,000 0
= 1,000,000
s 500,000
01 A& HI 1,494,600 1,494,600 0
O+ sHEMESSIHE  1,494,600,000 1,494,600
< 1,000,000
[ia 494,600
03 Al S THHI 5,400 5,400 0
O2FXF sHEMEESIHY 5,400,000 5,400
SHEMBES NS (ZEXA)(HEEAMY) 2,150,000 2,000,000 150,000
< 1,500,000
s 650,000
401 Al HI K 201 I 2,150,000 2,000,000 150,000
< 1,500,000
[ia 650,000
01 A& HI 2,142,260 1,992,800 149,460
OZEXNT sHELESHE 2,142,260
< 1,500,000
[ia 642,260
03 Al S HHI 7,740 7,200 540
OZEXT SOHELEEFIHE 7,740
QT a2 ALY 8,527,000 4,625,000 3,902,000
s 6,016,000
< 1,003,000
s 1,508,000
403 X EHHSH20lA 8,527,000 4,625,000 3,902,000
s 6,016,000
< 1,003,000
[ia 1,508,000
02 S 2S0Het A =8 2 & ArS 8,527,000 4,625,000 3,902,000
OaZT =22 FHIAY 8,527,000
s 6,016,000
< 1,003,000
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2N Mot
Hu: 5EMO PR MEtAT SEWM
G U222 ZSAL (AT AMNIBEEHIH ) (AT AIHESES| H) (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
| o 1,508,000
MBS A FOX ALY 600,000 0 600,000
402 BI2H X =20l M 600,000 0 600,000
01 SIZEXIEANSEXR (MM A) 600,000 0 600,000
Qa4+ =8 FUX AL 600,000
HAZSZY 2SAIY 1,000,000 400,000 600,000
Fag 700,000
= 300,000
401 AlEHIZL £ 0HY| 1,000,000 400,000 600,000
Fag 700,000
= 300,000
01 Al&H| 1,000,000 397,140 602,860
OYaz MR+ HINZIY 75
1,000,000,000& 1,000,000
Fag 700,000
= 300,000
AUAFT AQIEZY 2L QX 2F 2,379,000 0 2,379,000
Fag 1,665,000
= 714,000
401 AlEHI 2L 2 0HY| 2,379,000 0 2,379,000
= 1,665,000
= 714,000
01 Al&H| 2,379,000 0 2,379,000
OYaZ AQIE2A 2L T} 2= 2,379,000
g 1,665,000
= 714,000
AAF FaL2uz2 HUIA 155,000 0 155,000
Fag 109,000
= 46,000
401 Al HI L 2 THYI 155,000 0 155,000
g 109,000
= 46,000
01 Al& B 155,000 0 155,000
OLAZ AL E HUXA 155,000,000 155,000
Fag 109,000
= 46,000
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